| > with(LinearAlgebra): with(plots): interface(rtablesize=40):
> pumpkin_h := Matrix([[0, -1, -3, -4, -3, -1, 2, 4, 5, 4, 2, 1, 1,
1.5, 0.5, o, 01, [3, 3, 2, 0, -2, -3, -3, -2, 0, 2, 3, 3, 4, 5, 5,
4, 31, 1, 1,1,1,1,1,1,1,11,1,1,1,1,1,1, 1]1]);
o -1 -3 —4 -3 —-1 2 4 54 21115 0500

pumpkin h = | 3 3 2 0O -2 -3 -3 =2 02334 5 5 43 1)
I 1 1 1 1 1 1 1 11111 1 1 11

> plotl:=pointplot3d(pumpkin_h, style=pointline, color="Red",
thickness=3);

i> LinearTransformation:=Matrix([[1,0,-7],[0,1,-7]1,[0,0,1]11);
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> plot2:=pointplot3d(LinearTransformation.pumpkin_h, style=pointline,
color="Blue"):

display(plotl,plot2);










